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Características dos Equipamentos 

  Qtd 

 Peso 
Unitário 

Largura Prof. Altura Peso Peso Maciço Total 

    

 
[kg] [mm] [mm] [mm] [kg] [kN/m ]2 

[kN/m 
]2 

[kN/m2] 

CONJUNTO 

QMT 30 kV (5 
Celas) 

1 
 

5500 5000 
2768 

3156 5500 3.5 1.5 5.0 

QMT 30 kV (6 
Celas) 

1 
 

6000 6000 
2768 

3156 6000 3.2 1.5 4.7 

QMT 10kV 1  5000 4800 1566 2119 5000 5.5 1.5 7.0 

TF 2398 kVA 1  7800 2950 1500 2000 8500 15.2 1.5 16.7 

Retificadores 1  1000 2000 1050 2000 1000 3.4 1.5 4.9 

TF 5MVA 1  9100 1500 2550 2850 9100 18.6 1.5 20.1 

Q 750DC 1  6000 6100 1400 2300 6000 5.7 1.5 7.2 

TSA 160 kVA 1  1980 1700 830 1680 1980 9.4 1.5 10.9 

PST 
QMT 10 kV 1  5000 3700 1566 2119 5000 7.0 1.5 8.5 

TF 800 kVA 1  3615 1500 865 2050 3615 18.5 1.5 20.0 

Sala de 

Ventilação 

  2  3000     6000     1 

  4  2250     9000       

  4  500     2000       

  1  1000     1000       
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𝑇 

º

Δ𝑇

Δ𝑇

∆𝑇𝑈,𝑐𝑜𝑛 =   
𝑇2+𝑇9

2
−𝑇0 = −2 ℃ ∆𝑇𝑈,𝑒𝑥𝑝 =

𝑇1+𝑇7

2
− 𝑇0 = 5 ℃
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

 

ε

𝜀𝑐𝑎(𝑡) = 𝛽𝑎𝑠(𝑡)𝜀𝑐𝑎(∞)

𝜀𝑐𝑎(∞) = 2.5 (𝑓𝑐𝑘 − 10)10−6

𝛽𝑎𝑠(𝑡) = 1 − 𝑒𝑥𝑝(−0.2𝑡0.5)

ε

𝜀𝑐𝑑(𝑡) = 𝛽𝑑𝑠(𝑡, 𝑡𝑠)𝑘ℎ𝜀𝑐𝑑,0

𝛽𝑑𝑠(𝑡, 𝑡𝑠) =
(𝑡 − 𝑡𝑠)

(𝑡 − 𝑡𝑠) + 0.04√ℎ0
3

ε

𝜀𝑐𝑠 = 𝜀𝑐𝑑 + 𝜀𝑐𝑎
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